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e Please check that this question paper contains 4 printed pages.

e (Code number given on the right hand side ot the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i) There are 25 questions in all.
(i1) All questions are compulsory.

(iii) Questions no. 1-14 are short answer type questions carrying 2 marks each. Answer
to each question should not exceed 30 words.

(iv) Questions no. 15-21 are long answer type questions carrying 4 marks each.
Answer to each question should not exceed 80 words.

(v)  Questions no. 22-25 are very long answer type questions carrying 6 marks each.

Answer to each question should not exceed 200 words. Question no. 25 is to be
answered on the basis of the passage given.

.  HshHYT hic] SHEEHT faEhie J Treg e Bdl & 7 2
Why 1s transition period associated with population explosion ?
2. AH-U-BIL ] 37 FdTsY | 2

Give the meaning of the term Laisse-z-faire.

3. HAETRl U hl bl el [sd gaqrsy | 1+1=2

State any two_featuresiof authoritarian state.

4. A H. i@ NEEdE 7 1+1=2
In what way Dalits-are different from OBC’s ?

5. 3CTEUU <oht T3y foh efiieh 3TcqEEgeh! i fohd TR B 33T USdl & 7 1+1=2
Give example how religious minority group sutfer disadvantages ?

6. ST HifoTeh bl TR A @A & ? > x4=2
How did the planters live ?

7. ISTGA 1 3Y qarsd | 2
Write the meaning of democracy.

8. T UNA + YHSH A SI¥ehIUT el hdl SHIT T@T ? 2

How independent India retained a global outlook ?
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FHI ¥ 1 Y 3T TER{d el TR Teh R 8 I §U & 7 3CTaWT ST | 1+1=2
In what way agriculture and culture are linked in our country ? Give example.

SHTH FEATR0T H 3T R T93d @ ? 2
What do you understand by the term benami transter ?

TR oh THR (H=R0T) H HiY HSlgl o &Y H AT hl HEHTAIAT h8 T¢I 7 2
How circulation of labour led to more participation of women as agricultural labour
force ?

farfrersT v1eg 1 37 FaTSY | 2
Give the meaning of term disinvestment.

et AT b ATAR ‘T hi feafd’ = Bl 8 2 2
What i1s ‘alienation situation’ according to Karl Marx ?

gedia ‘draree! frgag e adi g 7 1+1=2
In what way strike 1s different from ‘lock-out’ ?

YA H oI 34T T TRIEE & SN i 3eeid hitaig | 4

AT
YA § 3T FCEH1 H siga 371ereh &3 [=dl g | 1) sarsy |

State the reasons for the decline 1n the sex-ratio in India.
OR

There are wide regional variations in the age structure in India. Give reasons.

TTIhe Siet & STIER, ST 1 et ST JhTal | el 31 § | STl Hiferu | 4

According to Alfred Gell, the market has significance much beyond the economic

functions. Explain.

AT 1 JTUBR IUHIH TST sl Y TH A b T ITErRA fhd
fererraT Shifs |

34T
TS HTEh(ceh fofaerdT o Jfd 3Tehel |fqrd #1 &d & ¢

Jeh [ §TdT & 7

Explain how RTI Act makes the state accountable to the nation & its people.

OR
Why states are often suspicious of cultural diversity ?

3IUERTETe 9 AT hl STETSTa! bl TATH SGHIT | SRS hifoU |

Colonialism also led to considerable movement. Explain.

24+2=4
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U TS o1 TG § THTENT hid & U €. 3Tiged ug Teredt meh g feu e qepi
shl ST <hIToTT |

Examine the arguments given by Dr. Ambedkar and Mahatma Gandhi for the
inclusion of Panchayati Raj in the Constitution.

OIeayR T 37701 1 ST dTcqd THET STl & SEoh He G101 ol Id18d | 3ETEWT ST |

State the common features central to the public perception of disability all over the
world. Give example.

3 TaTor= TS ceh TG ehl SITEAT hITTT, STa M YIS ehTT bl dsil & T |

Discuss the various political changes which have hastened globalisation.

WRA T ST &= shi SR SIREUE & {9y Teel § HifS |
P
AT S o I ST TEAT ohd T8 § 3T 3Tfeeh e g5, SIS it |

Explain tribal indentities in India with special reference to Jharkhand.

OR
Discuss the ways that strengthened the institution of caste in India under Colonial rule.

VAT THTS H IREaH shl TTshaT o B9 H IITaHIeh0T shl ST shilolu |

Discuss westernization as a process of social change in Indian society.

31 IREdAl o SaTed A foh TUER-TF AN AR @ |

Bring out the changes that have been occurring in the Newspaper industry.

i few 7w =T w61 Uteu TR FeferiRad g9t & 3o i
SHR "R (SAHT) G111 H Torga s & TRk 3T 3R TR-HThR HTe],
4TiHe QYT HHTddlGl GHgl, HHaTHRR GHfd, ITHRR &l IR, qieT
IR dT. S ad H I i I 37 AN Sl Ueh [T & 91 AqUs
TSIl H Wbl 84 H 980 & ... 3CTEWT b Tt THuee ¥ fova AR 91 & &g 85U
ot feier =p1 @iraa, UTiéTes 9 § 32 - TG IS g1 Teham 1317 o |
(31) HMEITh A<l Iec § 379 T JHd & ?
(F) <Al % YHSe™ B9 § Menfiehl fhd TR T8 +idt 8 ? 3T digd
ST hITT |

Read the passage given below and answer the following questions :

In our current mmformation age, social movements around the globe are able to join

together 1n huge regional and international networks comprising non-government

organisations, religious and humanitarian groups, human rights association, consumer

protection advocates, environmental activists and other who campaign in the public

interest. The enormous protests against the World Trade Organisation that took place

in Seattle, for example, were organized in part through internet-based network.

(a) What do you understand by the term social movement ?

(b) What role does technology play to make social movement get globalized ?
Explain with example.
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